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Instructions : The answer of Question No. I is compulsory having 2 marks for each objective
question. The candidate is required to answer two long type questions out of four
questions. Each carries 40 marks.

fcer - W G@T 1 &1 SR A & e 2 36 Tod & aEgiie e 81 s 4
< IWF A # ¥ R 2 F S| G| TS U 40 3F H 2

I.  Objective Questions (IEIFTE AI) (2x10=20)

1.  Barygaza, identifed as Bhrigukachha, the outstanding port in ancient India, is situated at the
estuary of which river?

(A) Godavari (B) Kaveri

(C©) Narmada (D) Tungabhadra

FTen, R wie W R % SRt SEUTe YES & €9 | ygeEn T, TR ad
% e W afedd B 7

(A) el (B) &

_(©) D) T
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Which of the following Harappan cities is known for its impressive and unique water harvesting
and management system?
(A) Mohenjo-daro (B) Dholavira

(C) Kalibangan (D) Ropar

frferfan egwmd st & & 2, st st ok o3 e waE e F fan
AT ST 27

AA)  WigAsiee (B) HIATERT

(C) Tl (D) AT

What was ‘Sondhar’?

(A) A fertile category of land

(B) Barren land

(C) Grants provided to the religious institutions

(D) Loans to the peasants

HIET FT AT?

(A SUST: FHEA

(B) I[ASUATS FHMA
(C) =fifes "eamsit =1 foam @ s
D) fram & fau =

4. Shivaji surged his income by levying a ‘contribution amount’ on the neighboring Mughal

territories. This amount is known as

(A) saranjam (B) chauth

(C) dabir (D) paga

firarstt 7 frepead qoer &= R AEE TRC F IE 6 e A9 A F w6rad
#1 za fyr = feg 9@ § I S @7

(A) "™ (B) =ita

L(C) &R (D) I
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5.  The ‘Hindu Widows’ Remarriage Act’ was enacted in which year?
(A) 1856 (B) 1857
(C) 1885 (D) 1889
feég_Tawan qAfdare afufme frg ad @mn mn ar?
(A) 1856 (B) 1857
(C) 1885 ‘D) 1889

6.  Who was the Viceroy of India at the beginning of Quit India Movement in 19427

(A) Lord Linlithgow (B) Lord Wavell
(C) Lord Irwin (D) Lord Reading
1942 ¥ ARA SIS AGIAA 1 YEAT § AR & qEEE & 42

Ay =rE ferafoam (B) ®iE daad
€ @ xfaw (D) @ qfe

7. Which of the following publications is not associated with Mahatama Gandhi?

(A) Indian Opinion (B) Kesari
(C) Hind Swaraj (D) Harijan
frafafaa yeemt # ¥ wR-w1, W T | gefag 7@ e
(A) e snfufaa ~B) F&d
©) Teg = D) Them

8.  Which of the following leaders is famous for the accession of the Princely States into the
Indian Union after Independence in 1947?

(A) Vinoba Bhave (B) Jayaprakash Narayan

(C) Subhas Chandra Bose (D) Vallabhbhai Patel
frforfaa § & @9 & Aar, 1947 F wd=ar Wit F ugEw Raed @ O @y 3§
gigren & & forg wftg €2

(A) farar s (B) TAWHY FARE
(C) g9 wg 4 (D) TANATE T
CCSME23(17)/37
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9.  Munda ‘ulgulan’ of 1899-90 was led by
(A) Kunbi Peasants (B) Birsa
(C) Sidhu and Kanhu (D) Vinoba Bhave
1895-1900 # §U WS SeR[AT o1 Aged fhaa feam 417
(A) Tt foRam ~«B) fazan
(© Trg sk =% @) fadran W

10. ‘Daman-i-koh’ is associated with
(A) Kolis of Gujarat (B) Bhils
(C) Satara uprising (D) Santhal uprising
IfHA-T-hg Hafa 2
(A) TSR & il o (B) ¥ H
(C) ¥axI fagre @ —~D) TIE |

II. Long Answer Type Questions (Sret TwE ueA) (40x2=80)

1.  Describe the factors of the origin of the Indus Valley Civilization.

J fag-ardt wvar i Safd & SRS =Fan|

2.  Critically analyze the market reforms initiated by Alauddin Khalji.
FATIE A Raersit gRI g& fFT MU IeR-F9R 6t ATA=ATHS GHIEAT 6|

3.  “The 1857 Revolt was the first war of Indian Independence™. Comment on the statement.

s 1857 Wi Hifd ARATE WaadT GUW h Teel 813 A1 I9q FAT hI GHIET T

4.  ‘The tribal revolt led by Birsa Munda expressed the anxieties of the peasants in religious
idioms’. Comment.
firar quer & Ag@ A TQ SeaE fagie # ffed feaEi & A ofifs gerd §
sfvrera B <@ 4t == W
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Instructions : The answer of Question No. I is compulsory having 2 marks for each objective
question, The candidate is required to answer two long type questions out of four

et -

questions. Each carries 40 marks.

Objective Questions (TEIFE W)

Find the correct Match :

(i) Milam Glacier (a) Shyok valley
(i) Siachen Glacier (b) Braldo valley
(i) Rimo Glacier (c) Kumaon-Garhwal
(iv) Biafo Glacier (d) Nubra Vallley

(A) (i) —=(c), (i) —(d), (iii) - (a), (iv) — (b)
B) @) - (D), (i) - (a), (ii) - (b), (iv) - (c)
(©) () —(a), (i) —(b), (ii) —(c), (iv) —(d)
D) (i) - (), (i) —(c), (iii) —(d), (iv) - (a)
gt firam @t

0 firem fewe /(a) EOIC R |

i) ot g~ (b) e ETd

i) fon fewmg (c) TATH-TgATd
@) Fa® e @ T W@

(A) (1) - (c), (i) —(d), (iii) - (a), (iv) - (b)

B () —(d), (i)-(a), (iii) - (b), (iv)-(c)

© @) - (@), @) (b) (i) - (c), (iv)-(d)
D) =), ()=(c), (i) - (d), (iv)-(a)

CCSME23 (17)/37

W HEAT | 1 I afard € i 2 o ude & aggfe we € e 4
< I weAt # A fRl 2 1 SR 21 UAS U 40 3 H 2

(2x10=20)

P.T.O.




AR AR ¢ 17 ey

4.

Marks

B
The Ghaghara river cuts a deep gorge at
(A) Kau (B)  Shishapani
(C) Lami (D) Kalsi
T G R STTe W U el werag @ fwi el @7
(A) F& ®) st
() wh AD) I

Which among the following was declared the second Biosphere Reserve of India on
18.01.1988?

(A) Manas (B) Nilgiris
(C) Sunderbans (D) Nanda Devi
frrmfafaa o fFl 18.01.1988 F1 WRa &1 ga1 AR e wiftd fear wam =17
(A) WTH (B) HTefirts
AC) A (D) a1 Sl

Which of the following statements regarding ‘Bharat Dal’ is incorrect?

(A) The Government launched the sale of Arhar Dal in retail packs under the name Bharat
Dal )

(B) The Bharat Dal Scheme was launched on 17.07.2023

(C) Dal began to sold at a very subsidized rate of ¥ 60 per kg for lkg pack and
T 55 per kg for 30 kg pack.

(D) Bharat Dal was to be distributed through retail outlets of NAFED, NCCF, Kendriya
Bhandar & Safal

fret § @ WRA T & Heig # BT FIA T €7

JA) @R Y CWRG @ F AW 9 Ge 9% # oaRe qe W fnhl gE

B) WRA o ASET 17.07.2023 B S H T A

©) =@ @ 1 fr ¥ ¥ F fag 60 v wla fEer ok 30 feet % 9w % fog
55 w=q3 wia feel & faEdt @ | S5O gE fem @

«D) WRa gl @ fa@ NAFED, NCCF, #3d W3R R TR H G gl

¥ wegw § fear ST oA

CCSME23 (17)/37 Contd.
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5.  Identify the incorrect match :

(A)
(B)
(©)
(D)

Kayamkulam Power Plant — Tamil Nadu
Ramagundam Thermal Power Station — Telangana

Uran Gas Turbine Power Station — Maharashtra

Utran Power Station — Gujarat

wet foem e

(A)
~(B)

waAFAd faga wa9 - dfedrg
AT aTdE foamga Sy — derm

(C) ST | ez faea &g - wewg
(D) IaA faga F - T

6. Find the correct match :

(i) Ladang (a) Phillipines
(1) Humah (b) SriLanka
(i) Caingin (c) Malaysia
(iv) Chena (d) Java

(A) (@) - (o), (i) - (b), (iii) - (d), (iv)- (a)

B)
©

D)

(@) = (d), (i) - (c), (iii) — (b), (iv) - ()
(1) = (o), (i) = (d), (iii) - (a), (iv) - (b)
(1) = (b), (ii) - (d), (iii) — (a), (iv) - (c)

wEt firam Ot

(i) @5 (a) Toretifoa
(i) &S (b) #rereht
(i) T (c) Weifyr
(iv) = (d) ST

(A)
(B)
©
~D)

() = (c), (i) = (b), (iii) - (d), (iv) - (a)
(D) - (@), (i) - (c), (iii) - (b), (iv) - (a)
(1) = (c), (i) = (d), (ii) - (a), (iv) - (b)
() = (), (i) - (d), (iii) - (a), (iv) - (c)
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7. Identify the correct order of oilseeds production in Jaharkhand from high to low for the year
2022-23.

(A)  Groundnut - Sesamum - Soyabean - Castor seed
(B) Groundnut - Soyabean - Sesamum - Castor seed

(C) Soyabean - Castor seed - Groundnut - Sesamum

(D) Soyabean - Groundnut - Castor seed - Sesamum
T 2022-23 % for AR # fere seared % 99 3 fr 7 & wE W A wed
| AB)  HTEAT - T4 - FETE - RS w d
(B) Well- WA - faet -3k &1 +fiw
(C) |HETEA - JEr & I - Hkedt - foer

(D) TS - FrEAT - 3RS H A - o

8.  Sadni Waterfalls in Jharkhand is on which of the following rivers?
(A) Bhairavi (B) Sankh

(C) Barakar (D) Ajay

TREE H, geAt saward frefafag # @ fog 7€ w 22

A) A ~B) @

(C) U (D) =T
. CCSME23 (17)/37 Contd.
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9.  Which tribe does not belong to Jharkhand?

(A) Ho (B) Ao
(C) Korwa (D) Mahli
- SR SR @ T 27

A = ®) s

(C) wRar (D) Wedl

10. Jharkhand is the largest producer of which variety of silk in India?

(A) Tasar (B) En
(C) Muga (D) Mulberry

WRA # o TR & 9w 1 g9 931 SOES WRES @7

AA) TR g B) Wi
(C) ¥Hm (D) ST&qd
CCSME23 (17)/37
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II. Long Answer Type Questions (2 ITda W) (40x2=80)

1. Examine the potential and challenges of solar encrgy in India. How the Government intervention
may help towards adoption and expansion of solar energy as a major energy source?

WRA H "R Gl A WA s gt i ) SRR geay e R 6
S U W@ Tl Ald % 'Y H o AR i A H weg o aehal @ 7

2. Discuss the characteristics and spatial distribution of different types of vegetation in India.

w=a ¥ faftms ver 6 gaefaai i fasuare sk b foaor w ==t w1

3. Differentiate between tropical and temperate cyclones.

IOTHiEEETa 3T SIS =sharal o == 3R il

4.  Identify the regions affected by land degradation and soil erosion in Jharkhand. Discuss the
major causes of erosion in the State.
FR@UE H HH- G- 37K F&1_JORE § TATIHE &1 Bl Te= | T5F H ARG & 7@
FHRON R == A

* Kk Kk
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